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L=430+440=870m

A= (430 +430) x 1/2 x 0.7+ (430 +3.40 ) x 1/2 x 0.6 + (3.40 +2.80) x 1/2 x 2.8 +(2.80 +4.40) x 1/2 x 0.9 = 17.2 m2
V=17.2 x 0.05=0.9 m3

V=172 x 0.05=0.9 m3

A=(370 +3.70) x 1/2 x 0.7+ (3.70+3.70 ) x 1/2 x 0.6 + (3.70+3.80) x 1/2 x 2.8 +(3.80 +3.80) x 1/2 x 0.9 = 18.7 m2
A= (100 +1.00) x 1/2 x 5.0 = 5.0 m2

A=(470 +470) x 1/2 x 0.7+ (470 +4.70 ) x 1/2 x 0.6 + (4.70 + 4.80) x 1/2 x 2.8 +(4.80 +4.80) x 1/2 x 0.9 = 23.7 m2
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V=1(1.10+1.00) x1/2 x 3.96 x 0.35 = 1.46 m3

V=1(110+100) x1/2 x 3.96 x 0.35 = 1.46 m3
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